EARAZROREIERT — 2 N— XBISY —F 202055821 H (A) 4E%H#A2H

m#3%01 11448 Y5%—M EEDE IR
[AE£] 1 7&:240,000 W  23%&:56,000”  33%&:24,000M”  43%&:17,000H . 5 7#&:12,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= .\ FLEFRER : —3-3— — HEET] (5HA)
2l 71751 bonyy i 4 1% 1.(2_9).6 3-3-3-2 | 39.0 2 ;1322) b A
R:IANZATIVYG BiNELS E[okt e
N . - KIFHf =] :30. -1-1- . — BEFIER (5543)
2 6|7y KHTZ 5 L 54.0 1?40)4 L 1 (4_234) IMBEEA :
LT RIAYL—> BRAT7—ZNTT NRES
. NN FREBTE : —6-6- - TERES (5#3)
3 NECEET = it 4 s 3 1.(310>.6 6-6-6-6 | 38.5 5 ;1:33) ;EE%: A
R:YvZXEy A B:RATFIE— IEANS
o= R s 4 | o 1:30.6 2-2-2-3 | 40.1| — 4 357 |mAlRA (542)
4|8/8|77 4 R/N b 54.0 (NF) (-3) 'ﬁ(ﬁ) 71'\—1’;7
L:XgrT bt —Fr—K-F B:7FEY HBITr—L
- — Fa—. 20, o5 2| — MEEER (S4)
5155/ #1Tvam k-3 it 5 i 1(310)8 5-5-5-4 | 39.2 6 ;1_269) o b A
x4 a3nR=-—5— B A1 a37H/Nb R B AR AR S
= 4 o4 | EHEE 1:31.1 4-4-4-5 |39.8| — 3 459 | BB (512)
6 %) L—=Z>/T—=)b 56.0 (1 1/2) (1) |HE=E
LE—E-HILEL B:HAxauynx R BX
N e =IE : —-7-7- - hnEE={R (S54R)
7 o | TIW—HNF— N - 1(73::; ) 8.2 ! fg) e
LI INATA—H— F:TU—>TLAT wE H4E
- S 4 6 | KERER 1:32.2 8-7-8-8 [39.3| — 8 444 | BEHIER (5H2)
8111 Z—<IbTy b 56.0 (5) 1) (g)%_1;7
2:707% B:Z—<)bF kX BFEERS
@ 1—F—@&BIEf
13=zr= 6,8,7,3,5,4,2,1
2d—F— 6,8,7,3,5,4,(1,2)
Gal=7r= 6,8,7,3,5,4,2,1
A==k — 6,7,8,5,3,4,2,1
[ RN
B OB 7 460 714K 6-7 170H B = 6-7 260M 3ER 4-6-7 790H
% B 7 130 4-7 360 | | B & 7-6 840/ | | EE 7-6-4 3,920M
6 1004 4-6 210
4 1504

ARICOVWTRDTEEERROODE. TR LI,



